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ENGLISH

Read the following sentences and answer the questions that follow. Choose the right

answer and mark it.

We are thinking of accompanying Mitra and his sister on trip to Simla.
(1) our (2) their’s
(3) his - (4 their
of the people left the hall soon after the show.
(1) Most (2) Few
(3) Much (4) More
Either man or nature to control population.
(1) have (2) has
(3) hasbeen (4) have been
The work was badly done and therefore I had to do it all again.
(1) above '  (2) for
(3) over (4) about
The rose flower is the most beautiful all the flowers in this garden.
(1) on (2) between
(3) from (4) of
Nothing can be predicted everything is uncertain.
(1) as (2) even
3) for (4) dueto
In Spain, women usually hats.
(1) does not-wear (2) do not wear
(3) did not wear (4) not wear

the Prime Minister of India, I would eradicate poverty.

(1) Iflwas (2) Iflwere

(3) Iflhave (4) Iflhad

Priyanka is M.A. in English.

(1) a (2) an

(3) the (4) None of these

It is futile to give advice to a person who would not listen to you.
(1) a (2) an

(3) the (4) None of these
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17.

By the time the Chief Guest arrives they the cultural programme.
(1) finish (2) finished

(3) will have finished (4) had finished

Still waters run deep. (Find out the Adjective)

(1) Still (2) Run

(3) Deep (4) Waters

Identify the part of speech of the underlined word.

“Virtue is its own reward.”

(1) Verb (2) Adjective

(3) Noun (4) Adverb

Combine the following sentence using the present participle :
Veena saw the lizard. She was frightened.
(1) Seeing Veena the lizard was frightened.

-~ (2) Seeing the lizard Veena was frightened.

(3) Being seen the lizard Veena was frightened.
(4) Having seen the lizard Veena was frightened.

Keerthi said, “Shall 1 switch on the fan ?”

(Change it into indirect speech)

(1) Keerthi asked whether she shall switch on the fan.

(2) Keerthi asked whether she should switch on the fan.

(3) Keerthi asked whether she should have switched on the fan.
(4) None of these

The Judge found him guilty of murder.
(Change it into Passive Voice)

(1) Heis found guilty of murder.

(2) He has been found guilty of murder.
(3) He had been found guilty of murder.
(4) He was found guilty of murder.

Correct the underlined part in the following sentence :
The criminal was hung two days ago.

(1) hanged (2) has been hanged
(3) had been hanged (4) is hanged
Robinhood with all his followers been captured.

(1) have (2) has

(3) had (4) are

[3]
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Read the information given in the following table and mark the answers t0 the questions

that follow :
Physical Features | Deevena | Dharmi | Bhavana
Age 15 18 19
Height 6.2" 5.5" 5.9”
Weight (in kg) 75 82. 65

What is this table about ?

(1) About age groups

(2) About height

(3) About weight

(4) ° About physical features

Who is the oldest, the second oldest and the youngest ?

(1)
(2)
3)
4)

Who is the tallest, the second tallest and the shortest of the three ?

(1)
(2)
(3)
(4)

Who is the heaviest, the second heaviest and the least heavy person ? ‘

(1)
()

3)

4)

Bhavana, Dharmi & Deevena
Dharmi, Bhavana & Deevena
Deevena, Bhavana & Dharmi
Bhavana, Deevena & Dharmi

Bhavana, Dharmi & Deevena
Deevena, Dharmi & Bhavana
Deevena, Bhavana & Dharmi

Dharmi, Deevena & Bhavana

Deevena, Bhavana & Dharmi
Dharmi, Deevena & Bhavana
Dharmi, Bhavana & Deevena

Deevena, Dharmi & Bhavana
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Read the following sentences and answer the questions that follow :
Choose the right answer and mark it.

Find out the meaning for the word “PINNACLE".
(1) Least point (2) Highest point
(3) Less in quantity (4) To surpass

“CANNIBAL”- denote the person
(1) One who feeds on human flesh.

(3) One who feeds on liquids. (4) One who feeds on raw food.

Find out the number of syllables for the word “Bickering”.
(1 1 (2) 2
3) 3 4 4

Find out the word basing on the below transcription.

/d3Angl/
(1) Danger (2) Dangle
(3) Dang (4) Jungle

Find out the silent letters in the word “Sceptre”.
(1) or 2) cp
3) ce 4) pe

Supply the missing letters in the word S_gm_nts.
(N 1ie (2) e, e
(3) o0 (4) u,a

Add Question Tag to the following sentence :

Ms. Priya knows four languages, ?

(1) Doesn’t she ? (2) Doesshe?
(3) Didshe? (4) Didn’tshe?
Mark the stress for the following word :
“ECONOMETRICS” y

(1) E 2 C

3 M 4 T

Is]
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(2) One who feeds on vegetables.
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